

1. Multiplica por la unidad seguida de ceros.

$3 \times 10 = \dots\dots\dots 3 \times 100 = \dots\dots\dots 3 \times 1.000 = \dots\dots\dots$

$23 \times 10 = \dots\dots\dots 23 \times 100 = \dots\dots\dots 23 \times 1.000 = \dots\dots\dots$

$234 \times 10 = \dots\dots\dots 234 \times 100 = \dots\dots\dots 234 \times 1.000 = \dots\dots\dots$

$5 \times 10.000 = \dots\dots\dots 5 \times 100.000 = \dots\dots\dots$

$23 \times 10.000 = \dots\dots\dots 23 \times 100.000 = \dots\dots\dots$

$4 \times 1.000.000 = \dots\dots\dots 35 \times 1.000.000 = \dots\dots\dots$

$1.230 \times 10 = \dots\dots\dots 1.230 \times 100 = \dots\dots\dots$

$1.230 \times 1.000 = \dots\dots\dots 1.230 \times 10.000 = \dots\dots\dots$

$15 \times 10 = \dots\dots\dots 15 \times 100 = \dots\dots\dots 15 \times 1.000 = \dots\dots\dots$

$30 \times 1.000 = \dots\dots\dots 30 \times 100 = \dots\dots\dots 30 \times 10 = \dots\dots\dots$

$201 \times 10.000 = \dots\dots\dots 201 \times 1.000 = \dots\dots\dots$

2. Divide por la unidad seguida de ceros.

$3 : 10 = \dots\dots\dots 3 : 100 = \dots\dots\dots 3 : 1.000 = \dots\dots\dots$

$23 : 10 = \dots\dots\dots 23 : 100 = \dots\dots\dots 23 : 1.000 = \dots\dots\dots$

$234 : 10 = \dots\dots\dots 234 : 100 = \dots\dots\dots 234 : 1.000 = \dots\dots\dots$

$5 : 10.000 = \dots\dots\dots 5 : 100.000 = \dots\dots\dots$

$23 : 10.000 = \dots\dots\dots 23 : 100.000 = \dots\dots\dots$

$4 : 1.000.000 = \dots\dots\dots 35 : 1.000.000 = \dots\dots\dots$

$1.235 : 10 = \dots\dots\dots 1.235 : 100 = \dots\dots\dots$

$1.235 : 1.000 = \dots\dots\dots 1.235 : 10.000 = \dots\dots\dots$